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Which symptom best describes your problem?

I

Local EIGRP router not establishing EIGRP
neighbors with neighboring router

4>< EIGRP Neighbor Check )

I

Routes (static or dynamic) not being
redistributed into EIGRP

AGIGHF‘ Redistribution Gheco

I

Routes missing from routing table
{show ip route x.x.x.x displays nothing)

4>< EIGEF Route Check >

:

Receiving Not on Common Subnet error

Refer to What Do EIGRP "Not On
Common Subnet” Messages Mean?

:

Variance not working

Refer to How Does Unequal Cost
Path Load Balancing (Variance) Work

in IGRP and EIGRP?

If this does nol help to solve the
problem, open a service request.

Seeing routes Stuck In Active (SIA)

You must understand what an S1A
route is and what causes it.

Refer to What Does the EIGRP

Lf| o[t 2 2!

DUAL-3-S1A Error Message Mean?
If this does not help to solve the
problem, open a service request.




( EIGRP Meighbor Check >

Are
neighboring routers atlached
via the same primary
network?

Can you
successfully ping
betweaen neighbors with
packet sizes up to the
interface MTU
size?

Are the neighbors attached
via Frame Relay Network?

Is the
frame-relay map
command being used
for manual
mapping?

Y
¥

Ensure that the frame-relay map
command has been configured with
the broadcast keyword. This allows

EIGRP multicast packet delivery

across the Frame Relay Network,

EIGRP will not form neighbors over secondary networks;
therefore, the neighboring routers should be on the same
primary netwark

M

Check the MTU setting for the
neighboring interfaces. Make
them the same, if they are not
already. If they are the same
then there is a Layer 2 problem
that must be fixed. Check
cabling, interfaces and so on.

»@Gntinue with next cha@

]

The primary address
assigned to the inlerface
must be part of the

N network used by the
network configuration
command under EIGRP

Iz EIGRP
enabled for
appropriate networks
on both the local and
neighboring
router?’

Are
broadcast
packels dropped
from the frame relay
broadcast
queua??

Y

!

Your frame-relay
broadcast queue may
need to be tunad.
Refer to OSPF and
EIGRP Meighbor Loss,
RIP and IGRP Update
Loss after Upgrading to
Cisco 105 11.2 or Later.

If this does not help to
solve the problem,
open a service request.

&3 QI C|HtO|A ZHoll pingS YB3 Mo 2 +-E - QlE B2, hello7t YEIFHAE FA4
224.0.0.102 2 MEEIU=X] #2I5t7| I8l debug ip packet B S AT LICH
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A3 of:

Rl#debug ip packet

IP packet debugging is on

R1#

*Mar 1 00:10:54.643: IP: s=10.10.10.1 (local), d=224.0.0.10 (FastEthernet0/0), len 60, sending
broad/multicast

R1#

*Mar 1 00:10:58.611: IP: s=10.10.10.2 (FastEthernet0/0), d4=224.0.0.10, len 60, rcvd 2
!-—— Indicates that the hello packets are sent to 224.0.0.10.

=AME M2

1 2 Q15t24H show ip eigrp interface &2 AT
LICH.

5 2 Q15+ 24H show interface serial &2 A e L
CtH,

EIGRP Neighbor Check :
C (contnued) )—b@turn to previous cha@

Are there any
inbound access control
lists (ACLs) configured on the
neighboring interface for
gither route?®

Temporarily
remove the ACLS.
Does this
help?

The inbound ACL
is not permitting
the EIGRP heallos
form the neighbor
to be processed,

Modify the ACL to
Are you manually permit EIGRP
changing the EIGRP hello Y packets from the
interval or hold timers? l neighbar.
It is recommended
that the hold timer
value be at least
N three times the
¥ value of the hello
Your problem is interval. If your
nol a commaon values are such,
problem. Check Open a service
the physical request for further
cabling. If a LAN troubleshooting
switch separates
the neighboring
routers, verify the
switch settings.
Otherwise, opan a
service reguest.
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C EIGRP Redistribution Check >

Is the redistribution
router redistributing a
protocol other than IGRP or
EIGRP into
EIGRP?

Your problem is not a
N —m common problem.
Open a service request.

F Y [y

Are the expected

networks in the EIGRP Y
topology table??
N
Are default metrics
configured for the Y

redistributed routes?

N
¥

When redistributing routing
protocols other than IGRP or
EIGRP into EIGRP, a default
metric must be specified.
Rafar to Enhanced Interior
Gateway Protocol.







C EIGRP Route Check )

Ara you
missing all EIGRP
routes from the routing
table?®

Are any
routes in the EIGRP
topology table?®

@Dnlinue with next cha@ M

local router
forming EIGRP
neighbors with tha
routers that should
be advertising

Are yoL missing
extemnal routas from the
routing table?

an you
ping between
neighbors with packet
size up Lo the interface
maximum MTU

Are the
missing routes part
of discontinuous
networks?

have an inbound
distribute list; or neighb-
oring router, an

Iz auto-
summarization
enabled?

You must disable auto-
summarization, for
discontinuous networks (o

Your problem is not a
commaon problem. Check
physical cabling.
Open a service request.

M+G IGRP Neighbor C.her:D

Check the MTU setting
for the neighboring
interfaces, Make them
the same, if they are not
already. If they are the
same then there is a
Layer 2 problem that
must be fixed. Check
cabling, interfaces
and so on.

Remove

the distribute list,
Does this solve the
problem?

Y
¥

The distribute list is
denying the routes.
Modify the list as

nacessary

exchange information. Refer
to Enhanced Interior
Gateway Protocol.

=MZ o2
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EIGRP Route Check
[confinued)

H&lurn o previous L'.h::l@

Does the router's
originating router have
the same 1D as the
local router??

Does the
Ilocal router have
an inbound distribute list, or
does the neighboring router
hawve an outbound
distribute
list?

N
¥

( EIGRP Redistribution Check )

Routers should not have
duplicate RIDs. The duplicate
RID must be changed ar
removed on one of the routers.
Note: The EIGRP process must
be restarted, once the duplicate
IF address is changed, in order
for the RID 1o be changed.

The distribute list Is
denying the routes.
Modify the list as
necessary

Remaove
the distribute list
Does this solve the
problem?

N
¥

Your problem is not a
comman problem. Check
physical cabling.
Cpean a service requast.
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